Kotoite (Mgs(BOg3)s) Structure:
A2B3C6 0P22 58 g at gh-001

This structure originally had the label A2B3C6_0oP22_58_g_af_gh. Calls to that address will be redirected here.
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Prototype

AFLOW prototype label
Mineral name

ICSD

Pearson symbol

Space group number

Space group symbol

ByMgzOg¢

A2B3C6_-0P22_58_g_af_gh-001
kotoite

24036

oP22

58

Pnnm

AFLOW prototype command aflow --proto=A2B3C6_oP22_58_g_af_gh-001
~Tparams=a, b/a7 C/aa 22,%3,Y3,T4,Y4,T5,Y5,25

Other compounds with this structure
COg(BOg)Q, Nig(BOg)Q, MIIg(BOg)Q (jimboite), COI\HQ(BO?,)Q7 KNaQ(BO;g)g, EU3(B03)2

Simple Orthorhombic primitive vectors
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az = by
ag = cZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = 0 = 0 (2a) Mgl
B, = %al—f—%az—i—%ag = %ai—i—%by—i—%ci (2a) Mg I
Bs 3as + 2223 = 309 +cz02 (4f) Mg 11
By = a1 — (22— 3) ag = jax—c(zn—13)2 (4f) Mg II
By = % ar — zp a3 = %by —c20 2 (4f) Mg II
Bg = %al—l—(zg—&—%) as = %ai—&—c(zz—i—%) Z (4f) Mg II
B~ r3ar + ysaz = ar3X +bysy (4g) BI
Bs = —x3a; — Yz a = —azr3X —bysy (4g) B1
By = —(23—1) a11+ (ys+3)ax+ = —a(zs3—2)%x+b(ys+3) 9§+ 3c2 (4g) B1
2 a3
Bio = (z3+3)ai—(y3—35)axtzay = a(r3+3) X=b(ys — 3) ¥+ 5c2 (4g) BI
Bi1 = Tqay + Yq a2 = aryX + by, y (4g) (O
B2 = —Tgar — Ys Az = —azs X —bys ¥ (4g) 01
Bis = —(za—3) a11+ (ya+3)a+ = —a(zg— %) X+b(ys+3) §+3c2 (4g) 01
243
Bis = ($4+%)al—(y4—%)32+%33 = a(a:4+%)§<—b(y4—%)y+%ci (4g) 01
Bis = Tsa) + ysas + 25 as = axs X+ bys ¥ + cz5 (8h) OlII
Big = —Z5a; — Y5 ag + 25 as = —ax5X —bysy +cz52 (8h) O1II
By = —(m5—%) a1+(y5+%) as — = —a (m—%) 5c+b(y5—|—%) jf—c(z5—%) Z (8h) oIl
25— 3) ag
Bis = (zs+3) ar— (ys — 3) a2 — = a(zs+3)%—b(ys—3)y—c(es—1%) 2 (8h) on
(25— 3) as
By = —Ts5a; — Ysaz — 2583 = —axs X —bys ¥ — cz5 2 (8h) Ol
By = Tsay + ysas — 25 as = ars X + bys y — cz5 Z (8h) Ol
By = (%—i—%)al—(y —%)ag—l— = a(a;g,—!—%)fc—b(ys—%)y—i—c(zg—l—%)i (8h) OII
(25 + 3) a3
Bz = —(z5—3)ai+(ys+3)a+ = —a(zs—3)%+b(ys+3) 9+c(z+3)2 (8h) O1I
(z5+ %) a3
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